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Solutions

2. Determine the function that models the data in the table and dc:-cs nc:-t d
involve a horizontal translation. <
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3. A sinusoidal function has an amplitude of 4 units, a period of 1207, and a

maximum at (0, 9). Determine the equation of the function.
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4. Determine the equation for each sinusoidal function. a) Bf"y i
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4. Determine the equation for each sinusoidal function. a) 3’“‘3"
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4. Determine the equation for each sinusoidal function. ~ b) 35:‘\3!
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4. Determine the equation for each sinusoidal function.  b) 351\)?
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4. Determine the equation for each sinusoidal function. ~ b) 35:\}'
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7. A sinusoidal function has an amplitude of 6 units, a period of 45°, and a
minimum at (0, 1). Determine an equation of the function.
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8. The table shows the average monthly high temperature for one year in

b) What type of model describes the graph? Why did you select that model?

¢} Write an equation for your model. Describe the constants and the

I Kapuskasing, Ontario. [
Time (months) J F M A M J J A S 0 N D
Temperature (°C) —-186 | —163 | —9.1| 04 | 85| 138 | 17.0 | 154 | 103 | 44 | —-43 | —148
a) Draw a scatter plot of the data and the curve of best fit. Let January be ~ *°
month 0. ~.

variables in the context of this problem.
d) Whar is the average monthly temperature for month 20?
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